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1% fs Hoh {#EH | 43] 36 719 11.0 68.0
Y PN 38/3 | 17 9.0 68.0
3L M EE[ 4| 37 78 8.0 70.0
A WA F=E 4330 | 82 12.0 70.0
ofiL E%,'éfa:é I — 40039 | 79, 9.0 70.0
66 HE A 36 39 | /5 5.0 70.0
T45L iJﬁ'j %1 40 42 82 11.0 71.0
8fi AREP HEH 37| 41 78 7.0 71.0
0451 IMH% 18 it 41] 39 800 8.0 72.0
102 =18 —ER a1/ 43 | 84 12.0 72.0
1142 % & 13 | 11 4.0 73.0
1242 | &NJE %#,m 40 42 82 9.0/ 73.0
136 A 40 43 83 10.0 73.0
14650 FEXR Eﬂlﬁl‘ 4342 | 85 11.0 74.0
1561 BPIE K= 42| 44 86 12.0 74.0
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2 B MWE 53t 43 43 86/ 28.0/ 58.0

HEER AR ER 42311 79 16.0 63.0
3 B & 42 4 83 16.0 67.0
4451 E {#E M 4 82/ 14.0 68.0
by I N — 39| 42 81/ 13.0 68.0
61z AFH = 48 49 907 28.0 69.0
L RRE EA 50 52 102 32.0 70.0
8fi fOpE RBF 4343 | 86 15.0 71.0
O Eik BN 4747, 1 94 23.0 71.0
10 =¥ HB= 44, 45 89 18.0/ 71.0
11461 Al Fkx 4243 | 85 14.0 71.0
126 TR Bz 46| 46 92/ 20.0 72.0
136 428 il 43 44 87 15.0/ 72.0
1461 &= B A 40 48 88 16.0 72.0
(Y AE =R N - 52 45 97 24.0 73.0
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' B SF JUL= 35 33 638/ 5.0/ 63.0
EEl HI3 HEY 37 35 720 9.0 63.0
3fi |0k BASE 41, 38 79 14.0/ 65.0
M $5K M 43] 35 78 10.0/ 68.0
i FAHE —4 47) 47 94/ 26.0 68.0
6fif & R F 37/ 34 717 2.0 69.0
145 AL HF 40| 38 78/ 7.0 71.0
8L B biH 39 38 77, 6.0 71.0
9y #R EHBRF 48 44/ | 92/ 19.0 73.0
10 kR ARK BHE 42| 38 80 6.0 74.0
11 228 =3 A1) 38 79 4.0 75.0
1260 S <HY 45 400 | 85 9.0 76.0
1360 1&g B 45040 | 85 8.0 771.0
1441 |5k 5 = | 46| 42 88 11.0 71.0
156 ™A FOR 39 41 80 2.0 78.0




